


https://www.youtube.com/watch?v=t7gyi8NhgYg









In the cycle shown, the change in 
entropy for the system around a 
complete cycle is

A) Positive

B) Zero

C) Negative
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The entropy and 
temperature are plotted 
for a certain isothermal 
process. How much heat 
was added during the 
process?

A) 4000 J

B) 8000 J

C) 10000 J

D) 12000 J

E) 16000 J
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A) 0.333

B) 0.400
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What is the efficiency of the 
engine described by the Carnot 
cycle shown?

A) TC /TH

B) (TH - TC)/ TH

C) TH /(TC + TH)

D) TC /(TC + TH)

E) (TH - TC)/(TC + TH)






